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yi  q
i

together



liao tian(r)

IR (L)

to chat
1 —EEXIL. FBEU,
ta men yi qi liao tianr, kan dian shi.
They chatted and watched TV together.




llao

L7l

to chat






wan(r)

br(JL)

to have fun; to play

INEERITILER |, NERER,
xiao wang xi huan wanr ni ba, xiao li bu xi huan .
Little Wang likes to play with mud, Little Li doesn't like it.




hui

2]

to return



to go home
18 £+ = KR B =X,
ta men wan shang shi er dian cai hui jia.
They did not get home until twelve o clock.




¥ (céi ,not until)

The adverb ¥ (cai ,not until) indicates that the
occurrence of an action or situation is later
than the speaker may have expected. That
lateness Is perceived by the speaker, and is
not necessarily objective, as seen in (2) and
(3). ¥ (cai) never takes the particle | (I€). pum




1. FBFMAKZEIR , BAKFET K,
WO a liu dian cht wan fan,ta liu dian ban cai lai.
| Invi to dinner at six o clock. He didn t come till six-thirty.




2, /NEFHBRETZRTEISR,
Xiao gao chang chang wan shang shi er dian cai hui jia.
Little Gao often doesn 't go home until midnight.

3. MhBe 1R MR BEDT
ta wan shang hen wan cai shui jiao ,
She goes to bed very late in the evening.




The particle [ (le)

The dynamic particle | (le) signifies:1) the occurrence or completion of
an action or event, or 2) the emergence of a situation. The action, event,
or situation usually pertains to the past, but sometimes it can refer to the
future. Therefore | (le)is not a past tense marker, and the use of | (le)
should not be taken as an equivalent to the past tense in English. In this
lesson, I (le) indicates the occurrence or completion of an action or
event. It is usually used after a verb. But sometimes it appears after a
verb and the object of the verb in interrogative and declarative sentence.




1. 4KR1B1EBIE T =MK,
jin tian ma ma hé le san béi shui ,
Mom had three glasses of water today.
(occurrence or completion of an action, in the past)

2. EHl—/hEER\B T —MmA%R.
XTng i YT Xiao gao ging wo he le yi ping ke le .
On Monday Little Gao bought me a bottle of cola.
(occurrence or completion of an event, in the past)




A TERRE EPREFTER TG ?
Zzuo tian wan shang niqu da qiu le ma ?
Yesterday evening did you go play ball?
(occurrence or completion of an event, in the past,
an interrogative sentence)

B: ERE EIREFTIKT
Zuo tian wan shang wo qu da qiu le.
Yesterday evening | went to play ball.
(occurrence or completion of an event, in the past)



The particle | (le)

There is often a specific time phrase in a sentence with the dynamic
particle T (le)-----such as 4 X (jin tian,today) in, 2 #—(xing q1
yT,Monday) in (2), or FE XKt £ (zud tian wan shang,last night) in (3)
When [ (le) is used between the verb and the object, the object is
usually preceded by a modifier. The following------- numeral+measure
word----is the most common type of modifier for the object:

— M (san béi:three cups/three glasses) in (1)
*}F]i(y‘l ping; one bottle) in (2)




4, HRIELZ TRIREFBER
Jin tian ma ma hé le san bei shui ,
Tomorrow |'ll go see a movie after | have eaten dinner.
(occurrence or completion of an action in the first part
of the sentence, in the future)




The particle [ (le)

If there are other phrases or sentence following the object of the first
clause, then the object does not need a modifier, See example(4) above.
ThisV | O+V(O) structure can be used to depict a sequence of two

actions, and it doesn t matter whether the two actions take place in the

past or in the future.

IARIRZ(V) TBRIR(O)EFE (V)ER(O),
jin tilan ma ma heé le san béi shui .,
Tomorrow |'ll go see a movie after | have eaten dinner.




5. THERF T (arl-E%r) , I TEBRRIT,
wo zuo tian kan le (ha li -bo t&) na ge dian ying hén hao.
| saw Harry Potter yesterday. That movie was good.

If the object following [ (le) is a proper noun, as "Harry
Potter” in (5) below, it does not need a modifier, either.



To say that an action did not take place in the past,
use (4 )(méi you) instead of 4~... T (bu...le) or &
A... T (méi ydu...le)

6. MERFIRATE Ko
Zuo tian wo mei you ting yin yue ,
| didn't listen to music yesterday.
ERBATERT o (X)
Zuo tian wo bu ting yin yue le .
ERBEANTER T o (X)

Zuo tian wo mei you ting yin yue le ,



AANRIZAR 115 2 AARIZIR 7% 8B ?

ni chi fanle ma ? ni cht fan le mei you
Did you eat? Did you eat?

B:F %17, > B:Fk %Pz,
wO mei ch. wO mei chi.

No, | didn't. No, | didn't.



AARYE T JLAMAK 2

ni he le ji béi shui *

How many glasses of water did you drink?
B: e | —HIK,

woO hé le yi béi shul.

| drank one glass of water.



, THHAZER ESXF
B SCHE, MATAIR T & 3XF
L5/ g, EFRPIEPIES
CARER , TAHETHEMNH. ERXTE
, Rﬂ%?*ﬂﬁk 41— EP R L.

A3kt )L,
1Y SHH

C1E. b

FAAMZER KR E T KT ER,




LW N -

X4

X4

Y4

W
W
W

nat did Wang Peng and Li You do at Wenzhong s house?
nere does Gao Wenzhong s older sister work™?

nen did Wang Peng and Li You go home?
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